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Reg. No.:

T Question Paper Code : H 9363

5 Year M.Sc. DEGREE EXAMINATION, APRIL/MAY 2010,

Elective
Software Engincering.
XIT 004 — MOBILE COMPUTING.
(Common to § year MSe. Information Technology)
7 (Regulation 2003)
Time : Three hours Maxizmum : 100 marks
Answer ALL questions.
PART A — (10 2 = 20 marks)

1. Differentiate Space Division Multiplexing from Code Division Multiplexing.

How does  p-persistent CSMA diffr from a non-porsistent CSMA?
5. Whatis polling?

4. Comparo and contrast the infrared and radio ransmissions of WLANs.
5. Compare Piconst and Scatter not.

6. What are HIPERLANS?

7. What aro the factors that afect the performance of Ad hoc networking?

8 Distinguish between a Foroign Agont and a Home Agent in Mobile IP
technology.

9. Draw the components and interface of the WAP 1 .x architecture.

10.  How does an XML differ from an HTML?
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PART B — (5 x 16 = 80 marks)
Explain the various sproad spoctrum techniques. 8)
or

Explain the Hidden and Exposed terminal problem in n wireless
environment. Also discuss the technique of Multiple Access with Collision

Avoidance to overcome the hidden terminal problem. ae)
‘Write a dotailed note on GSM System Architecture. as)
or

What are the vrious types of satellites used? Describe their
functionalities and also explain the concopt of routing localization and
handover in them. a6)

Write notes on TEEE 802.11 focusing on the functionalities and alo
explain the concept of outing, localization and handover in them.  (16)

or
‘What is Bluetooth? Explain its technology. ae)
Discuss in detail the different waya of performing the encapsulation
needed for tunneling in mobile IP. a6)
or

How does an Ad hoe nebwork differ from a wired network in the aspect of
routing? Explain the Dynamic Souree routing in Ad hoc networks with an
oxample. a6)

‘What is the main objective of wirelosa Application Protocol? Explain the

components and interfices of the WAP architecture. as)
or
Describe the WML Seript with example. ae)





